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AN sg€II=4dH
M =9 Jls=Hg
&S SIS sEHEI=XH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 45,500
AL 2o 2 7,500 8,340 A 840
= 3,750
s 3,750
201 Let24E] 1,250 1,060 190
= 625
s 625
01 At 22l 1,250 1,060 190
Oodagasstaelsd 29 50,0003 » 258 1,250
=2 625
s 625
206 = Hl 6,250 7,280 A 1,030
= 3,125
[ia 3,125
01 M2 4l 6,250 7,280 A 1,030
OXBY ENBRIN 2IME
250,000& * 5& « 53] 6,250
= 3,125
s 3,125
gols S JI=X& 100,000 120,000 220,000
= 50,000
s 50,000
ol SSEIHI=XE 100,000 120,000 220,000
= 50,000
[ 50,000
402 RIZ2EXt20l ™ 100,000 120,000 220,000
= 50,000
[ 50,000
01 QIZEAI 22X 100,000 120,000 220,000
OgiissEIHI=XE
100,000& * 1,250ha * 80/100 100,000
= 50,000
[ia 50,000
AMEAE Js=Es 24,257 38,376 A 14,119
H 8AZE 2 4,707 4,606 101
101 1244 dl 2,007 1,906 101
04 JIZHHZ2XREE S 2,007 1,906 101
OHESH W MAIZ 29 o2Y
40,1403 = 521 = 10 2,007
201 et 1,200 1,200 0
01 At 22l 1,200 1,200 0
OHEEH R MAIZ 23]
150,000& * 45 23| 1,200
206 M= Hl 1,500 1,500 0
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AN seIIsHE

M =g JlsHe

ool NEHRE Jls23 EERE=E))
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MHZ 8l 1,500 1,500 0
OHS3HlW 8AIE 23 W&
50,000& = 10& = 33l 1,500
H ols2a 88 7,550 8,650 A1,100
201 L4l 5,100 6,200 A1,100
01 At 2t 2l 5,100 6,200 A1,100
OMZTZ HE Y LN
70,000& = 108 » 3& 2,100
OAMSH J=XSs S M
70,000& = 58 33l 1,050
Oolgxz] 1,950
oAM= 21 EJtal MR
650,000& * 3CH 1,950
206 = Hl 800 800 0
01 MHZ 4l 800 800 0
HMMNDH EX A W
80,000& » 5& « 23] 800
301 et a = 1,650 1,650 0
09 AL HI B &S 1,650 1,650 0
OtisAt dDl&s E3us 424
120,000& * 50l 600
OMZXS 2D Bt BHRY
7,000& = 150! = 13] 1,050
s EH FRNE=> 1,500 3,200 A 1,700
201 Let24E] 1,500 3,200 A1,700
02 =224l 1,500 3,200 A 1,700
O[AM&&HI S XHl] 1,500
O =gJI&EH ®RXE
375,000& * 2& * 23| 1,500
AEXNE J=23 ANEAY 10,500 21,920 A 11,420
402 RIZ2EXt20l ™ 10,500 21,920 A 11,420
01 RIZERI 22X 10,500 21,920 211,420
OLNSE UEZE RSN MSE 2
3,000,000 * 5J0 A * 70/100 10,500
U2 AFMM J=23 117,259 137,044 A 19,785
ZHE=E 452 29 8,256 10,021 AN1,765
101 @124 dl 2,181 2,181 0
04 D12t Z2REE S 2,181 2,181 0
OMBE HESY U FHEHR
40,1403 * 201 * 27,16 2,181
201 L2l 3,075 4,840 AN1,765
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AN sg€II=4dH
M =9 Jls=Hg
Sl RHNS ML IS (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMgtd=ollois M =4 A"
10,000,000& = 1JHEHXI = 70/100 7,000
Ha MII=23 AlgAY 21,000 21,000 0
402 RI2EX =201 M 21,000 21,000 0
01 RIZERI2E X 21,000 21,000 0
On% ZHABMAY
20,000,000& * 1JHSHXl * 70/100 14,000
OZ&ZX =8 ASHZ WHHEX =4
10,000,000& * 1JHSHXl * 70/100 7,000
SS&ES JlasHe 824,678 315,635 509,043
S48 =4 30,368 6,115 24,253
101 @124l 5,018 4,765 253
04 JIZHHZ2XNHESE S+ 5,018 4,765 253
OFSHEISY o=y
40,1403 = 501 » 25¢ 5,018
206 = Hl 1,350 1,350 0
01 =8l 1,350 1,350 0
O%sx2 NEE 29 M2
45,0003 = 10& * 33l 1,350
402 RI2HXt20l ™ 24,000 0 24,000
01 RIZERI 22X 24,000 0 24,000
O%BHE MASEHE N
15,000,000 * 2J0 4 = 80/100 24,000
Dl SHH & ME 29 393,380 0 393,380
101 14l 14,180 0 14,180
04 JI12ZtHZ22HEE =+ 14,180 0 14,180
OlMESHH&dE 222
40,1403 = 121 = 250 10,035
OHERI=Y 200,000& = 121 = 13| 200
OllMSHHHE 23 4R =5
40,1403 = 101 » 52 2,088
O0lMSHH&HE 29 QR A=
40,1403 = 121 = 15 603
O0lMSHIHE & 2 R 22X 4AHESE R
fE= 12,724,380 * 1Q1 » 9.85471% 1,254
201 Let24d] 19,200 0 19,200
01 At 22l 5,000 0 5,000
OllMSHI&HE 28 =83 7
10,000& = 10& * 102l 1,000
Obl¥=E ANl2 232  200,000& * 58 * 23] 2,000
OlMESHH2dE 2 E2XNE M
1,000& * 1& = 1,000% 1,000
Olm=tl] 1,000




L

2AM: sdIIs4dH
M =9 Jls=Hg
Helr SSEAS Iy (&t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUMSHZHH 22 A= oo
100,000& * 28  5¢l 1,000
02 =224l 14,200 0 14,200
O[AM&&HI S XYl 3,000
ODMSHH2HEH AI&ZEH SXIHl
300,000& = 108 3,000
Ol2322 < HMAl 11,200
ONMESHALME 2F IR
833,300& * 12042 10,000
OMI|otM2e| &I 100,000& = 123l 1,200
206 = Hl 30,000 0 30,000
01 MHZ 4l 30,000 0 30,000
OlMESHHZEEH 2EHE
625,000& * 435 * 123 30,000
405 TtabF S| 330,000 0 330,000
01 AL EFH S 330,000 0 330,000
OllME EZHHD| 120,000,000& * 2% 240,000
OfldE MEX 20,000,000& = 2% 40,000
OlMESHH&dE RS2 & X
40,000,000& * 1x 40,000
OlMESHH&dE &8 JINM 2
5,000,000& * 23 10,000
dEtd Sas ML XJ 250,000 283,000 A 33,000
206 M= Hl 250,000 275,500 A 25,500
01 =4l 250,000 275,500 A 25,500
OFEel e =& SX XN&
1,000& = 250,000kg 250,000
ALY 2 150,930 26,520 124,410
101 @14 Hl 34,130 12,820 21,310
04 JIZHHZ22XREES 34,130 12,820 21,310
OFFYs 29 o=y
40,1403 = 32! = 208 25,048
O¥EzII=¢ 200,000& = 32! = 13] 600
OFFYYA 29 AR FH4Y
40,140 = 321 = 30 3,613
OFF YA 29 AR AX2Y
40,1403 = 32! » 15 1,807
OZXHYA 29 L FX 4HLHE 223
10,354,380& * 321 * 9.85471% 3,062
201 et 9,800 6,700 3,100
01 At 22l 2,100 0 2,100
OS2I (HAILH 2)
150,000& * 103 1,500
— 32 —




AN seIIsHE

M =g JlsHe

ool SHES I (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Olu=Hdl] 600
O XU HHs 2 150,000& * 49l 600
02 3524t 7,700 6,700 1,000
OX&Hal &Hl Al 300,000& = 105 3,000
QD0 HHYE =324 HESFHI(SR)
1,364.94& = 100 = 24Al2¢ 4,700
* 143.47<
206 T2 HI 7,000 7,000 0
01 & bl 7,000 7,000 0
OZXHUHALE2H Mz 350,000 * 208 7,000
401 Al HI L £ 0HHI 100,000 0 100,000
01 A& HI 100,000 0 100,000
28 AU =SAE &X
100,000,000& * 14l 100,000
HHSHAL (SN W) 202,833 206,900 N4 067
Jl=23 bl 202,833 206,900 N4 067
SEXY JI=F 188,935 191,117 ~2,182
201 Bt A | 143,825 141,327 2,498
01 At 22/ 41,400 45,276 3,876
OlgetgH|] 10,000
OFRNESE SHHA 10,000,000 * 14 10,000
Olegs¥] 24,050
(OIS =y 50,000& * 116 5,800
Oz 50,000& = 365 18,250
CIE=EEL: 7,350
OFRNESHE SHHA 7,000& » 2121 = 50 7,350
02 3824l 102,425 96,051 6,374
Ol2322 % MAll 71,039
ORERZ2 290& * 16,7600H 4,861
odge2 36,000 » 9CH = 12& 3,888
[ORSPIETr= 4,000,000& = 12& 48,000
ONxERZ3 400,000& = 12& 4,800
OO0IEXEE & 60,000& * 3CH 180
O &D| oA 22| CH & H| 400,000& = 123 4,800
ONII&EH HNMEH =5
630,000& * 13 630
OAxFI|otM 22| CHEH] 240,000 = 12& 2,880
OAYEINBAN =2 1,000,000& * 13l 1,000
o[ 2dl] 5,569
O duHe )| AZ |
1,364.942& = 20 * 8AI2F = 852 » 34 A 5,569

_33_




AN seIIsHE

H: HH2IAH (=X M)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O[AMEEHISXHl] 10,960
O MAEHI (Z2AD], Z2IEHBA)S XY
270,000 * 9CH = 23] 4,860
O E AKX HI 6,100
0 =4 1,000,000& * 4= 4,000
o MEA 350,000 * 6IHA 2,100
O[xt&FA eyl ] 14,857
[ONE=E=INE:] 225,000 * 6CH ~ 6IHE 8,100
OSHE MEXY RRU(ER)
1,759.50& » 1282 = 5AI2F = 604 6,757
202 (4] 36,270 40,950 A 4,680
01 2L Y| 26,670 26,550 120
O[2Wtodl] 26,670
ORNEE SHAHA
20,000& * 2121 % 63.5¢ 26,670
02 MY 9,600 14,400 A4,800
OSHAEA SEHNYH
200,000& = 4021 = 12& 9,600
203 R =&Y| 8,840 8,840 0
01 J|229 P R=XY| 3,300 3,300 0
OJ#2d =8| 3,300,000& = 1@l 3,300
02 MRt R =AY 1,280 1,280 0
OFIAINNMAR =Y 40,000& * 329! 1,280
04 ENSI IR =AY 4,260 4,260 0
OFNM2IgIRF&Y| 355,000& * 12& 4,260
JlsEa2 JI2484| 13,898 15,783 N 1,885
201 LEr2 Y| 9,850 11,733 A 1,883
01 A2 22| 8l 9,850 11,733 AN 1,883
OlgetLgH|] 6,000
ORNEY SHAHA 6,000,000& * 14 6,000
Ol2dl] 3,850
ORANEYE SHHA 7,000& * 1121 = 50 3,850
202 04| 4,048 4,050 ay
01 2LHOHI 4,048 4,050 Yy
OFNSISHHA 20,0003 + 1121 = 18.4L 4,048

_34_




